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Woolly mammoths became extinct thousands of years
ago. Read the diagram to learn about the adaptations that
helped these large mammals survive in a cold climate.
Then answer the questions.

Its body was covered

in fur. Under its belly,

Its long tusks were the fur could be three

used as shovels to

feet long.
dear snow from
the ground so the
‘mammoth could reach Having small ears and
the grass and plants ashort tail helped

buried below. prevent heat loss.

Ithad a layer of fat
upto four inches thick

under its skin.

s long trunk ended

with two “fingers” that {—e
helped pluck grass.





